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10° < x < 360° 5L Lile ¢ iVl odaleadt J21

a)2cosx=\/§ b) 2tanx +3 =1
a) x=30°,x=330° b) x= 135" x=315°
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a) 3(sinx+ 2)=3-sinx,0°<x<360°
b) 3cos(2x)-1=0,0°<x < 180° 0.
) (2x) | ';’G(M
a) x =~ 228.590°, x ~ 311.409° dulaia "ﬁ(fp’
b) x =~ 35.265°, X ~ 144.735°
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00 < x < 360° 5L Wls ¢ Y1 isdalealt (2T
a) 4sinxtanx + 3tanx =0 i .’..
R
b) 2cos’x—-3cosx+1=0 (olaia "g(f?-"'
a) x=0°,x= 180", x ~ 228.59°, x ~ 311.41°
b) x=0°x=360",x=60°,x=300°
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<E =20 cos (1806) 50 —Laed &34 545 3,05 3 (<58 E o 5 3 333
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0° < x < 360°
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a) x~ 53.13°, x ~ 306.87°
b) =~ 0.30, ¢~ 1.70
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